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Fig. 1 shows two cells of emf E1 and E> with internal resistances ri
and r2 respectively. The potential difference between the points A
and B is ....
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A current of 10amp. is flowing through a conductor of cross-
sectional area 1mm?2. If the density of charge carrier be 10%icm?3,

the drift velocity of electrons will be ....
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The magnetic field of a small current loop at a large distance r from

the loop along its axis varies as ....
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A solenoid of length 2m and diameter 2mm carries 10 ampere
current. The magnetic field produced along its axis inside the

solenoid is 10mT. The length of the wire of the solenoid is ....
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In the Fig. 2 the resistance of the upper semi-circle and lower semi-
circle(each of radius =r), of rigid metal wire are R and 2R. I is the
current flowing through the circuit, the magnetic field at the center

of the circle is equal to ....
Fig. 2.
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A conductor carries a current I as shown in the Fig.3

Fig. 3.
The force on the conductor will be zero , if a uniform

Magnetic field B is applied along-
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A square loop of sidea, carrying current i,is placed at a distance a
from a very long straight wire carrying current i, as shown in the

Fig.4. The force on the loop is ....
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A flat circular coil of n-turns, resistance R and area A is placed

perpendicular to a uniform magnetic field B. The coil is rotated
about its diameter through an angle 90 degree, in the plane of the

coil and perpendicular to one of the arms through an angle % The

charge flown through the coil is ....
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If a charged capacitor C is discharged through an inductor L of
resistance R, the frequency of oscillation will be ....

936 Afe 4F9@ (¥F9F% = C), R @y g 8 L a@ner [
AEIEFT A FFT @ T FIEF 8 Ao T8TE FF Fo F ?

A cell has emf E. If the cell inductor is connected to a of inductance
L of small internal resistance, then the current i varies with time
as ....
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Two coils of self-inductance L; and L, are placed so close to each
other that all the flux produced by one is linked with other, then the
mutual inductance between them is ....
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Two conducting rings of radii 2rand rare moving in opposite
rection with a velocity V and 2v respectively as in Fig. 5. B is the
uniform magnetic field acting perpendicularly inside the plane of
paper. The magnitude of potential difference between their highest
points is ....
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The emf of a thermo-couple with one junction at 0°C is given by
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E=at+§p‘t2. a , f=constant. Its Peltier coefficient = is ....

(t = temperature of hot junction in Celsius)
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A capacitor of capacitance 5uF is discharged through an inductance
of 0.4H and a resistor. What must be the maximum resistance of
the circuit in order that the discharge is critically damped ?
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The magnetic susceptibility of a medium is 940x10-4. Its absolute
permeability is ....
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